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1. From the Fig. 1. Determine i(t)in Fig 1, when L=0.1h,R=2Q, C=0.11,i(0) =0,

and, E(t) = 120t —-120tU (t—1) ]
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Hint: 72, picy+— (i =

"L dt + Ri(t) + C El(r)dr =E(r) et —

2. Please find its complementary solution (y.) based on the figure below : .
y '+ xy' + (xP+ 2)y =

3. Please find its nontrivial solution = based on the equation below :
u"+iu=0, WO)=u'()=0

4. FEREULU TR

(a) BLA cos(wenD(w) = 3 [Hw-ﬁ— wg) + Fo— “’0)]

o) U@l =5 i+ e = Fo—wn)].

|,
§¢COS(.¥}z§(c)*“+e“‘“) and sin(y) = z—l(e -e™).

5. Please find the complex Fourier integral of the function below and determine what
this integral converges to(J&%k)?

| | T
cos(x) forO=<ux=< Py
: , . m -
flx)y = {sin(x) for —- =x< 0
0 for |x| > =

e

6. In each of problems below are Exact (z#), please find its solution :

@A=? (Ax?y+2y")dx+(x* +4xy)dy =0

2%y’ +2
(b) y':—'?;_z—sz/—@—
x“y" +8e



